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Abstract 

We propose a test for the slope of a trend function when it is a priori unknown 
whether the series is trend-stationary or contains an autoregressive unit root. Let 
α  be the sum of the autoregressive coefficients in the autoregressive 
representation of the series. The procedure is based on a Feasible Quasi 
Generalized Least Squares method from an AR(1) specification with parameter α . 
The estimate of α  is the OLS estimate obtained from an autoregression applied 
to detrended data and is truncated to take a value 1 whenever the estimate is in a  
T -δ neighborhood of 1. This makes the estimate "super-efficient" when α =1 and 
implies that inference on the slope parameter can be performed using the standard 
Normal distribution whether α =1 or |α |<1. Theoretical arguments and simulation 
evidence show that δ=1/2 is the appropriate choice. Simulations show that our 
procedure has good size properties and greater power than the tests proposed by 
Vogelsang (1998). Applications to inference about the growth rates of GNP for 
many countries show the usefulness of the method.   
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Wdeoh 4= H{dfw Vl}hv ri Rqh0vlghg 8( Qrplqdo Vl}h Whvwv

wJQ wIPV
� +PX, wIPV

� +WZ ,

� W@433 W@583 W@833 W@433 W@583 W@833 W@433 W@583 W@833

4133 31389 31386 31385 31433 3139: 31389 3139< 3138: 31387

31<; 31358 31353 31357 3137< 31357 31349 3134< 31345 31344

31<: 31356 31356 31365 3137< 3135; 3135: 3134< 31349 31353

31<8 31358 31364 31374 31384 31373 3137; 31355 3135; 31374

31<3 31365 31376 3137; 3138; 3138; 31389 31367 31384 31388

31;3 31376 3137; 3137; 31396 31388 31385 31385 31387 31385

31:3 31383 3137< 3137< 31395 31386 31384 3138: 31385 31383

3193 31385 31385 3137< 3138< 31387 31385 31389 31386 31384

3173 31383 31385 3137< 31387 31386 31383 31384 31385 31383

3133 31385 3137< 31384 3137: 31378 3137< 31385 3137< 31384

Wdeoh 5= Ilqlwh Vdpsoh Qxoo Uhmhfwlrq Suredelolwlhv zlwk 8( Qrplqdo Vl}h

Prgho= |w @ �w. xw/ xw @ �xw�4 . #+xw�4 � xw�5, . hw> K3= � @ 3

W@433 W@583

QS DU QS DU

� * n@4 n@4 DLF ELF n@4 n@4 DLF ELF

4133 313 3146; 31436 31443 31453 313;6 313:3 31389 313:<

316 31436 313;: 31438 313<5 313:7 31399 31393 3139:

318 313:: 31395 313;5 3138< 31398 31393 31395 31383

31: 313<; 313:7 313<3 313:6 313<6 31374 31386 3138;

31<8 313 313<5 31397 31396 31386 3139< 31377 31379 31373

316 31358 31369 31377 31369 31349 31373 3136; 3136;

318 3133; 31356 31359 31353 31338 31367 31368 3136;

31: 31337 31344 3134: 31346 31335 3134: 31357 31345

31<3 313 313<; 3139< 31388 31389 313;6 31399 31399 31384

316 31369 31387 31394 3137< 31356 3138: 31393 31398

318 31354 31389 3138: 3138; 3133: 313:< 313:3 3139:

31: 31335 31388 31387 3137< 31337 313:3 3139: 31393

31;3 313 313<; 313:5 3138; 31398 313:3 31393 31397 31377

316 3136< 313:7 313:5 3138; 3134< 31393 31398 313:8

318 31346 3138< 313<8 313:8 31349 313:8 31393 31388

31: 31344 313:7 313;3 313:7 3133: 313:: 3138< 31397

Qrwh= QS vwdqgv iru wkh qrqsdudphwulf phwkrg edvhg rq wkh zhljkwhg vxp

ri dxwrfryduldqfhv dqg DU uhihuv wr wkh dxwruhjuhvvlyh vshfwudo ghqvlw| hvwlpdwhv1



Wdeoh 6= <8 ( Frq�ghqfh Lqwhuydo iru Txduwhuo| Jurzwk Udwhv ri Srvw Zdu Uhdo JQS

Yrjhovdqj +4<<;,

W
�4@5

w�ZW w� SVW w
UTI
�

Frxqwu| Shulrg �
plq

? a� ? �
pd{

zlgwk �
plq

? �� ? �
pd{

zlgwk �� ��PV an �
plq

? �� ?�
pd{

zlgwk

Fdqdgd 7;=40;<=5 31;6 4144 4173 318: 048169 4148 4:199 66135 31<: 4133 4 31;< 4143 4164 3175

7;=40:6=7 31<9 4153 4178 317< 31<7 414< 4177 3183 31;: 4133 3 31<< 4158 4184 3185

:7=40;<=5 3174 31;3 414< 31:; 04317; 31:: 45135 55183 31<3 4133 4 317; 31;8 4154 31:6

Iudqfh 96=40;<=5 315: 31;5 4169 413< ?0<< 31;; A<< A<< 31<9 4133 4 31:3 31;< 413; 316<

96=40:6=7 31<; 4164 4197 3199 4153 4164 4176 3156 3139 3145 3 415: 4164 4168 313;

:7=40;<=5 3163 3186 31:9 3178 068173 3186 6917: :41;9 31<5 4133 3 3174 3189 31:3 315<

Jhupdq| 83=40;<=5 3159 31<; 41:3 4178 ?0<< 413: A<< A<< 31<: 4133 3 31;8 413< 4167 317<

83=40:6=7 31:8 416: 5133 4157 ?0<< 4177 A<< A<< 31<6 4133 3 4145 4179 41;3 319;

:7=40;<=5 314; 3183 31;5 3198 0<1:; 317< 431:9 53187 31;8 4133 3 3156 3185 31;4 318;

Lwdo| 85=40;5=7 3199 4147 4196 31<; ?0<< 4155 A<< A<< 4134 4133 3 31;5 4139 4163 317;

85=40:6=7 4143 4167 418; 317; 3188 4169 514: 4195 31;6 4133 3 413< 4168 4194 3184

:7=40;5=7 03139 3195 4163 4169 ?0<< 319; A<< A<< 31:5 4133 5 03148 3168 31;9 4135

Mdsdq 85=40;<=5 31;4 41:7 519: 41;9 ?0<< 41;; A<< A<< 31<< 4133 3 416< 419; 41<9 318:

85=40:6=7 41;7 5163 51:8 31<4 0613< 515< :19: 431:9 31;: 4133 3 41:8 514; 5194 31;9

:7=40;<=5 31;: 4137 4155 3168 031;3 4138 51;< 619< 31:; 31;: 3 4133 4137 413; 313<

X1N1 93=40;<=5 315< 3189 31;6 3187 05187 318: 619; 9155 31;< 4133 3 3167 3193 31;: 3185

93=40:6=7 3177 31:6 4135 318: 3185 31:5 31<5 3173 3187 3194 3 319: 31:5 31:: 3143

:7=40;<=5 3135 317< 31<9 31<7 ?0<< 3175 A<< A<< 31<8 4133 4 315< 3186 31:; 317<

X1V1 7:=40;<=5 3186 31:; 4136 317< 041<8 31;3 6189 8184 31<8 4133 4 318: 31;4 4138 317;

7:=40:6=7 318; 31;; 414; 3194 0416: 31;: 6144 717; 31<5 4133 4 3193 31<3 4153 3193

:7=40;<=5 3158 319: 4143 31;8 093138 3197 94165 A<< 31;< 4133 4 315< 319: 4138 31:9

Qrwh= Wkh froxpqv zlwk khdglqjv ��
plq

dqg �
pd{

� uhihu wr wkh orzhu dqg xsshu erxqg

ri wkh frq�ghqfh lqwhuydo dqg wkh froxpq zlwk wkh khdglqj �zlgwk� uhihuv wr lwv zlgwk1














